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Suppose there are 3 periods, but that there is no future uncertainty if the stock price goes up in
the second period, ie. the event tree looks like the one in the attached Figure next page. Thus, if
the stock price goes up after one period it will stay up with certainty. If the stock price goes
down, it will either go up a little or go down a little in the third period. The stock prices for the
different states ate given by
S0)=15. S(U)
The bond prices are all one, ie.

S(UU)=2,5(D)=1.5(DU)=15 and S(DD)
9%(0) = *(U) =g*D) = 1
(2) Suppose there is a European call option on the stock which expires at t = 2 (ie. it pays at
states (DD), (DU) and (UU)). The option has a strike price of X = 1.5. What is the price of the
option at state 07
Suppose the price of the call s below this price at state 0, but that the prices are the

cortect prices in states (U) and (D). Construet an asbitrage portfolio.

(b) Suppose there is a European put option o the stock which expires at t =2 and has a strike
price of X = 1 (different from the call - you cannot use the result from past () and the put-call
‘parity here!). What is the price of this option at state 07
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